1E#8
N == 7=
O KABRE No. (]
k———sk———k———k———k———k——k——k[ S F15F E S R LI S BA & | ——¢———*k———k——k———k———k———%
BAS ESIeeET S WA 8
a . _ iz e iRBE o
i CEISRER g ’ wreznEy EEZNEE
_ T 905 - 0011 53 - 2872
PRl . o
BEM=2ESTB7EOS 43 - 5931
208 | 30f% | 40f% |sottnit| E
ESH 448 2023%F108
2A 6A | 4N | 8N [20 A
BT mE% BERE - i e
el | BREE [V BREIE ZESATAE = BEICT
k———k———k———k———k———*k——*k——*k[JB FH & H Jk——*——k——k——k———k———k———x%
wA ° A
)91 A g |5 (678 IN— wn (B 67A)
7 O —— 2N RAM 2N
RAH
BaRE Eé B | ®&e®| 150000~ M RsRIEE 9000 B  ~ ==
?@Séu BHEE Fu | 10,000 M 1B F| 4,000~ M F34 B!
YOk FH 3,000 H KE F4| 2000~ B |FH FH [as|
WBE1 | 10000~B| RBICKHE| WMLERE2 | 5000~ | KB FY a8}
WEHES | 0000M| 2EICHE M A=A M WRBE2 M
Derom oS mew | EEAEETE twozoEmss (3 | | MEWES3 | 20007 2ACHK &
FEFH M BEIFY |8 |3000~ m/A #Ba EN=! *X#E (88108 BN
fEsHa *8 %88 ‘\R108 EE) =R B 5 | 5 48 2 [0 | asess | XEECKOTES
g5 |8 & 20O RETHY 2 Al | BEFY | 5 3,000~ m/8
N1A—EE | O | BES = el | Yrh—Eg | o EHEiZ i m/8
= BREM _— BREN
RERE  [vELEs ISEE [ ] ez BLFE BEE
v i N nARESE — U L
ERRE [vHNRE  XNALTHREDICE ERRE [V BRRE  KNALTNBEDCE
Rlatug| 5 | avan | 1000 B| wam [ 6000 m | [samns| B | mosn | 1,000M[#5&® | 5000
T 15 595 ~ 198 15% @Dl 88 30 ~ 13 B30HD
g 35EsRg || @R | 60D [vora]| B gy | 2 148 169 ~ 19 8169
LB b5 D~ i sl
R 5 | B¥S 2 B5R =@ BB ] BL [YOFE] E
Ot 8 - 88 I ERESm - BEOB R s B B5RS
*® B ;@w:aﬁﬁu| 58 | ERIKDN ‘ 113 B 5t )8 wE DEREE OO0
2OH: XFLABEIME, TEOCORERS K B |En-enmE | sneseey | 58
B | HA% 6 1 Bie% | neesE| 10 =] ZOM:  XEBRBETE. TRE2ORERH
_ o | o | 2024F 4R~ zoEn | | BRINE | A% 629RBE| SEEEREIORICLD
ERMROED 20254 38 T (= —— 20244 48 ~ DS
EREmE B BENICED = 20254 38 T [
Iy [ +HETRESRIR ]
Bl _—
: [ FENDE B2~48
Y S BERE BEgE GiEER " on
o)L g o) gl o) g o) g
RS AC N ]| N—+i g —+i gJ A |
SERENE| sy | BB |-REEEeR U 50 =
ARREEFL-REMREXELVS— HBEANSZEL- N ELORPXIECRIBEBNEBITOVTIE NPOE A BE Y E - REXIELY

A— IZBVWTERLTEYET, Sl ES 47-14-300021



